Maths Week 7

Parents please show them the PowerPoint slides for Year 3&4 to introduce them to the topic.  

Your child knows which sheets they usually do in class. The sheets are labelled with:
D means Developing (easy)
E means Expected (middle)
GD means Greater Depth (challenging) 

Once they finish the developing, they can do the expected worksheet for their challenge. 

The expected children can progress to greater depth once they finish the expected questions. 

Make sure you write your L.O and date in your book. There is one PowerPoint for each day.  

Please note- You do not have to print out any work. Children should date and number their work and show any working out in their books like they usually do in class.












Friday 8th May 2020
 Please click on this link for more information- https://www.bbc.co.uk/bitesize/topics/zp8dmp3/articles/zcrq2p3
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1a. Sunil loves biscuits.

1b. Donna loves to swim.

| sopperbiscuit | | 5packforel |

He plans to host a fea party, so decides fo
buy 10 individual biscuis. Do you agree
with his decision?

Explain your answer.

\ £2 per swim ‘ Weekly multi-
pass £10

She plans fo go swimming 3 fimes next
week, so decides to buy a weekly multi-
pass. Do you agree with her decision?
Explain your answer.

2a. Atthe snack bar, Sonny spent £1
altogether.

Nachos  Crisps Cola

25p 20p 50p

What could he have bought?

heig .

2b. At the toy shop, Marley spent £5 in
tofal.

Jigsaw Aeroplane  Trumpet
£1 £3 £2

What could he have bought?

hig -

3a. Maggie buys two cucumber slices
and a carrot stick. She pays £1.

Cucumber  Carrot
Slices Stick:
20p 40p

How much change will she receive?

= .

3b. Saif buys two dairy milk bars and a
bag of chocolate eggs. He pays with a
£10 note.

Dairy Chocolate
Mill Eggs
w2z
£ £2

How much change will he receive?

g .
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4a. Martha loves fo hold cake parties.
5 s,

45p per cake 20 for £3.60

She plans o buy 25 cakes for her next
parly, so she decides fo buy her cakes in
packs of 5. Do you agree with her
decision? Explain your answer.

W

4b. Hamry loves to watch movies at the
cinema.

£5.75 per ticket

Harry plans to go fo the cinema 4 times in
the next month, so decides to buy a
multi-pass. Do you agree with his
decision? Explain your answer.

|7

5a. At the fruit shop, Dani
altogether.

spent £2

Pear  Pineapple Grapes  Melon
£0.25 £125  £040  £075

What could he have bought?

i

5b. At the toy shop, Maddison spent £4 in
total.

Yoyo RubberDuck Train  Teddy
£0.24 £0.40 £1.20  £2.40

What could she have bought?

|

4a. Elodie buys three candy canes and
two lollipops. She pays with a £5 nofe.

Candy  Lollipop
Cane
T e
£0.30 £0.40

How much change will she receive?

w

&b. Rupert buys five pencils and two pens.
He pays £6.

Pencil Pen
£0.25 £1.25

How much change will he receive?

| ¥





